Gavle BK

Partavling pensionarer 2019-06-20

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac Par Poang % Namn MID Klubb
1 7 155 64.58 Borje Banck - Kjell du Puy 17145 59685 Gavle BK
2 4 143 59.58 Inez Lagerstrom - UIf Jonsson 87660 3118 Gavle BK
3 8 131 54.58 Leif Skatar - Malte Persson 92518 87668 Gavle BK
4 2 128 53.33  Kurt Brannstrém - Ingemar Oscarsson 86531 84894 Géavle BK
5 9 127 52.92  Rigmor Stain - Siv Svensson 34242 30327 Gavle BK
6 11 123 51.25 Helena Skétar - Karin Karnebro 91060 86539 Gavle BK
7 1 120 50.00 Kurt Forsgren - Leif Berntsson 10899 2705 Gavle BK
8 3 117 48.75  Alita Sundstrom - Lisbeth Nyblom 12817 8160 Gavle BK
9 6 109 45.42  Ingegerd Eriksson - Gudrun Hanaeus 50549 46629 Gavle BK
10 12 105 43.75 Lena Moberg - Jan Englund 63641 8058  Gavle BK
11 5 98 40.83  Solveig Gustafsson - Eleonore Kronback 87681 30328 Gavle BK - Sandvikens BK
12 10 84 35.00 Karin Eklund - Olof Eklund 10983 5947  Gavle BK
1 4 Kn10985 Basta kontrakt 2 4107642 Basta kontrakt 3 4 ED43 Basta kontrakt
Nord v Kn9752 5NT O =-460 Ost v2 5¢v O =-450 Syd v K83 44 S =420
Ingen + K6 NS + E10 ov + KD975
*Kn & ¢ v & NT #KKn1092 & ¢ v & NT &E & ¢ v & NT
« KD4 4E73 N27552 oK o E N9 3296 4 K97 4 Kn2 N8 8 7 109
vD103 v 864 S27552 vD10975 vK8643 S93296 v EKn v 109764 S 88 7 109
2 ¢+ ED5 O 116 8 8 11 497653 ¢ KDKn8 O 4 10114 6 ¢ EKn3  ¢10842 O4 45 34
#EKD972 410543 vV 116 8 8 11 #83 #ED7 V 4 10114 6 #K5432 %97 V5563414
462 & DKn9853 » 10865
vEK v EKn v D52
+ Kn1098743 ¢ 42 +6
»86 #654 #DKn1086
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 6 3aV+l +K -130 100 00| 4 3 5v0= 4Q -450 70 30| 9 1 44S= vA 420 10.0 0.0
7 12 4y N-4 v4 -200 80 20| 7 12 4y O+1 «Q -450 70 3.0(10 5 2v0-2 «Q 200 8.0 20
2 11 4¢DS-2 #A -300 6.0 40| 8 6 5v0= LX) -450 70 3.0 4 3 34S+1 vA 170 50 5.0
4 3 3NO+2 ¢ -460 30 70| 9 1 4v0+1 &6 -450 7.0 30| 7 12 24 N+2 &) 170 50 5.0
9 1 3NO+2 3 -460 30 70| 2 11 54DS-2 ¥9 -500 1.0 90| 8 6 3¢ N-1 aJ -50 20 80
10 5 5¢DS-4 #A -800 00 100(10 5 54DS-2 v7 -500 1.0 90| 2 11 2v V= *A -110 0.0 10.0
4 # DKn107 Bésta kontrakt 5 & DKn654 Bésta kontrakt 6 485 Bésta kontrakt
Vast vE109 44 N =620 Nord v Kn105 2NT N =120 Ost vE73 5NT S =460
Alla + D85 NS +D ov ¢+ E84
#EKn3 & ¢ v & NT #K543 & ¢ v & NT #KD1032 & ¢ v & NT
463 a2 N 5 105 108 4E103 4K97 N8 7 88 8 4 D4 4Kn109763 N 119 106 11
vKD42 vKn765 S 5 105 108 vK843 D2 S 878838 vKnl10542 v- S 109 106 11
¢ E43 ¢ Kn102 0837 33 4982 ¢ E6543 O56 555 4532 ¢ KKn106 024372
#D1052 #K8764 V83733 #DKn8 #1076 V56555 #EKn6 *874 V24372
& EK9854 482 & EK2
v 83 vE976 v KD986
+ K976 + KKn107 + D97
«9 »E92 #95
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 11 44 S+1 vK 650 80 20| 3 11 INS+1 «Q 120 100 00|10 6 3NS+1 vJ 430 10.0 0.0
8 12 44 N+1 3 650 80 20|10 6 2vS= «Q 110 80 20 1 7 240-1 vK 100 8.0 20
9 2 44N+l v6 650 80 20| 1 7 INS= 3 90 50 50| 3 11 4vS-1 4Q -50 40 6.0
1 7 44 S= vK 620 30 70| 8 12 INS= *Q 90 50 50| 8 12 4v S-1 4Q -50 40 6.0
5 4 44 S= vQ 620 30 70| 5 4 INS-1 *Q -100 10 90| 9 2 4vS-1 a4 -50 40 6.0
10 6 24 S+2 v4 170 0.0 100 9 2 24 N-1 vQ -100 10 90| 5 4 4vDS-2 «Q -300 0.0 10.0
7 « D103 Bésta kontrakt 8 4 K9 Bésta kontrakt 9 4 K8752 Bésta kontrakt
Syd v D107 ANT V =-630 Vast vE754 6NT N =990 Nord v 109 5¢v O =-650
Alla ¢ DKn Ingen ¢ EK ov + EK652
#K10875 & ¢ v & NT #EK753 & ¢ v & NT *2 & ¢ v & NT
4 EKKN9 &- N4 3363 4 D2 41087543 N 127 119 12 46 4« EDKn43 N27 244
v8 vYEKKN953 S 4 3 3 6 3 vKD83 v6 S 127 111012 vED86 vKn542 S37 2414
¢E932  +8765 O 8 10107 10 ¢+ Kn987543 ¢ D6 016231 ¢DKn4 3 O 106 118 8
#9632 #DKn4 vV 8 10107 10 »- #Kn964 V16231 #ED754 #Kn93 V 106 119 8
4 876542 4 EKn6 4109
v 642 vKn1092 v K73
+ K104 ¢ 102 410987
*E +D1082 +K1086
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 7 64 V-3 43 300 100 00| 2 8 3NN+3 &5 490 100 00| 9 3 4v0-1 «6 100 9.0 1.0
6 5 2v0+1 &A -140 80 20| 6 5 3NN+2 &7 460 80 20|11 4 4v V-1 ¢A 100 9.0 1.0
9 3 2v0+3 #A -200 6.0 40(11 4 4vy N+1 ¢2 450 6.0 40| 6 5 4¢ N-1 43 -50 6.0 4.0
1 12 4v0O= *A -620 40 60| 1 12 3NN= &4 400 30 70| 2 8 3vV+l +K -170 40 6.0
2 8 3NO+1 ¢4 -630 20 80| 9 3 5a&N= ¢Q 400 30 70| 1 12 5¢DN-3 v4 -500 20 8.0
11 4 3NV +2 &5 -660 0.0 100|110 7 5vS-1 +3 -50 0.0 100|10 7 4v V= +K -620 0.0 10.0
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10 D5 Basta kontrakt 11 41052 Basta kontrakt 12 4 E762 Basta kontrakt
Ost v 98742 3v S =140 Syd v 743 4v V =-420 Vast vE92 44 V D -1 100
Alla + 106 Ingen 4109 NS ¢ E42
#KD32 & ¢ v & NT #E10942 & ¢ v & NT #954 & ¢ v & NT
4943 & KKn62 N859 76 « EK « D8743 N7 8 344 & Kn43 & K10985 N9 6 6 409
vEK v D6 S85976 vEKD10852 v 96 S7 8344 vK7 v DKn863 S96 6409
¢ Kn753 ¢ KD984 O58 366 ¢ 853 + K6 O6 5 107 6 ¢ DKn103 ¢ 965 04779 4
#Kn985 #64 V 48366 &D #K765 V 6 5 107 6 #E762 »- V477294
« E1087 & Kn96 aD
v Kn1053 vKn v 1054
¢ E2 ¢ EDKn742 + K87
#E107 #Kn83 #KDKn1083
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 4 340-4 ¢A 400 100 00|11 5 2v V+2 *T -170 100 00| 9 4 3NN= vQ 600 10.0 0.0
7 6 4¢ O-2 v] 200 80 20|12 2 2vV+3 *T -200 80 20|11 5 3&N-= vQ 110 80 20
3 1 3vyN= ¢+K 140 40 60| 3 1 4v V= *A -420 30 70| 7 6 34DO-1 &K 100 50 5.0
10 8 2v S+l &5 140 40 60| 7 6 4v V= *T -420 30 7.0(12 2 340-2 «K 100 50 5.0
12 2 3v S= 8 140 40 60| 9 4 4v V= +9 -420 30 70|10 8 Pass 20 80
11 5 3¢ 0-1 v5 100 0.0 100(10 8 4v V= A -420 30 70 3 1 2v0O= 4Q -110 0.0 10.0
13 4 KD95 Basta kontrakt 14 4 DKn8 Basta kontrakt 15 4 E987642 Basta kontrakt
Nord v 95 3NT N =600 Ost v63 4ANT O =-430 Syd v EKn3 5¢ V D -3500
Alla ¢+ DKn74 Ingen + 10742 NS + K5
#K85 & ¢ v & NT #8765 & ¢ v & NT *3 & ¢ v & NT
4 EKn10763 484 N 8 109 7 9 «E9 & K10532 N53333 « KD53 10 N 105 9 108
vKn108 vE32 S 8 109 7 9 vEKKn72 94 S53333 v7 v 108642 S 105 9 108
+ K6 ¢ 853 05346 3 + K96 ¢ DKn85 O 8 10101010 ¢ EKn1072 ¢ D963 038435
*62 #DKn943 V53353 #KKn4 92 V 8 10101010 D62 #K107 V 38435
a2 4764 4 Kn
vKD764 vD1085 v KD95
+ E1092 ¢ E3 + 84
#E107 #ED103 #EKn9854
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 3 3NN+1 #4 630 100 00|11 6 1lv V= 8 -80 100 00| 1 10 44 N= ¢6 620 80 20
9 5 3NN= 8 600 80 20| 4 2 3vyN-2 a5 -100 80 20|11 6 44 N= ¢6 620 8.0 20
1 10 INN= *9 90 60 40| 1 10 1v V+3 «Q -170 6.0 40(12 3 44 N= ¢+K 620 80 20
8 7 5¢ N-1 8 -100 30 70 9 5 3NV= 2 -400 40 60| 8 7 5¢DV-2 &A 300 40 6.0
11 6 2NS-1 aT -100 30 70| 8 7 3NV+1 8 -430 20 80| 9 65 4vS-2 ¢ A -200 20 8.0
4 2 2v V= A -110 0.0 100|12 3 3NV+2 &5 -460 0.0 100 4 2 44 O+1 #A -450 0.0 10.0
16 & K943 Bésta kontrakt 17 & D7 Bésta kontrakt 18 4985 Bésta kontrakt
Vast v10 3¢ N =110 Nord v Kn986 2NTND-1-100 |Ost v E9864 ANT O =-430
ov + EKn2 Ingen + K952 NS 493
#EK654 & ¢ v & NT #EKNn10 & ¢ v & NT #Kn76 & ¢ v & NT
41065 4E872 N9 956 6 4 Kn96432 45 N47 657 4EK4 4DKnl10732 N 7 8 4 1 3
vDKn87 v EK642 S9 9566 vD754 vEK S47 656 vDKn2 vK1075 S78413
+ D65 ¢+ K7 044877 ¢+E ¢+ D1086 O8 6 6 86 ¢ED2 +K6 O55 9 1010
#Kn107 D8 V44877 »32 #K98754 V 8 6 6 86 D983 &5 V55 9 1010
4 DKn » EK108 46
v 953 v 1032 v3
4109843 ¢+ Kn743 + Kn108754
#932 »D6 #EK1042
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
9 6 4v0-1 *9 100 100 00| 1 8 3a4V-2 2 100 9.0 10| 2 10 64 O-2 «A 100 10.0 0.0
1 8 3vO= *T -140 50 50| 7 11 44 V-2 v8 100 9.0 10| 7 11 44 O= *A -420 8.0 20
2 10 3v V= &K -140 50 50| 2 10 24 V-1 v8 50 50 50| 1 8 4e4V+l +9 -450 40 6.0
5 3 3vV= A -140 50 50 5 3 2NO-1 +3 50 50 50 5 3 44 0+1 A -450 40 6.0
7 11 3y V= LY -140 50 50| 9 6 240+1 aA -110 1.0 90| 9 6 44 0+1 &A -450 40 6.0
12 4 34 N-3 vA -150 0.0 100(12 4 24 V= «Q -110 1.0 9.0|12 4 44DN-3 «Q -800 0.0 10.0
19 4953 Bésta kontrakt 20 a4 Bésta kontrakt 21 D86 Bésta kontrakt
Syd v EKn105 6NT S =990 Vast v 843 5¢ V =-600 Nord v 102 54 O =-450
oV ¢ KKn5 Alla + Kn9 NS + KKn982
#1062 & ¢ v & NT #10987643 & ¢ v & NT *876 & ¢ v & NT
2K84 4Knb6 N 1210101212 ~E98 « DKn102 N9 2244 « K5 &« EKn742 N16214
vK96 v87432 S 12109 1212 vKnl102 vKD976 S92 244 vKKn765 v D983 S16214
¢ 1064 ¢ D973 013311 ¢ EK8743 ¢ D52 03 119 9 5 ¢ 64 +10 O 117 11117
#7543 #DKn V13311 *5 *D vV 3 119 9 5 #EK52 #DKn4 vV 117 11117
« ED1072  K7653 #1093
vD vE5 vE4
¢ E82 4106 ¢ ED753
#EK98 #EKKn2 #1093
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 10 64 S= ¢T 980 100 00| 8 11 3NV-3 T 300 100 00| 2 1 4v V+l +9 -450 6.0 4.0
8 11 3NN+3 v8 490 80 20| 3 10 4¢ V+1 a4 -150 80 20| 3 10 4v V+1 »8 -450 6.0 4.0
12 5 44 S+2 ¢4 480 6.0 40| 2 1 2¢V+4 &4 -170 6.0 40| 8 11 4v V+1 »8 -450 6.0 4.0
6 4 44 S+1 v6 450 30 7012 5 5¢V= a4 -600 40 60| 9 7 5vV= 8 -450 6.0 4.0
9 7 44 S+1 &3 450 30 70| 6 4 4v 0= A -620 20 80(12 5 4v V+l 46 -450 6.0 4.0
2 1 44 S= &3 420 0.0 100 9 7 3NO+1 &5 -630 0.0 100 6 4 4v V+2 *6 -480 0.0 10.0
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22
Ost
ov

483

vE

+ E10632
#EK832

& EKN104 K762
vKn974 v D1032

+75 + K9
&654 &DKnl10
« D95
v K865
+ DKn84
97
Par Kontr Ut
6 12 5¢ N= &Q
1 11 3¢ N+2 &0Q
7 5 INN+2 &Q
9 8 3¢ N+2 v3
3 2 2¢ N+2 46
4 10 5¢ N-2 46

Basta kontrakt 23 4 K9752
4¢ S =130 Syd v-
Alla +96
& ¢ v & NT #D87542
N 9 106 5 8 4104 & EDKn83
S 9 106 5 8 vD1097653 v4
042765 +8 ¢ EKD532
V427675 &EK10 &9
46
v EKKn82
+ Knl1074
#Kn63
Res Poang Par Kontr Ut
400 100 00| 4 10 5¢DO-2 vA
150 6.0 40| 3 2 3NO-1 *J
150 6.0 40| 6 12 44 0-1 vA
150 60 40| 7 5 4v V-1 &4
130 20 80| 9 8 3NV-1 &2
-100 0.0 100| 1 11 3NV= &5

Basta kontrakt

4ANT V =-630
& ¢ v & NT
N7 2333
S6 2333
06 99 9 10
V 6 11101010
Res Poang
500 10.0 0.0
100 50 5.0
100 50 5.0
100 50 5.0
100 50 5.0
-600 0.0 10.0

24

Vast

Ing

en

& Kn2
v8

« ED64
v K653
+83
&ED6
4 K3
v EKn109

¢ DKn1072 ¢ EK96
#Kn8752  #K43

Par

RPLWOOoO A~

5
10
12

8

2
11

4109875

v D742

+54

109

Kontr Ut
34 N= ¢A
24 S= +Q
4N O -2 '
3v S-3 +Q
3N O +1 v2
3N O +2 v2

Basta kontrakt

4¢ V =-130
& ¢ v &4 N
N3 3665
S336675
O 10107 6 8
V 10107 6 8
Res Poang
140 10.0 O.
110 8.0 2
100 6.0 4.
-150 40 6.
-430 20 8
-460 0.0 10.
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